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1. 'X1, · · · , X25
i.i.d. N (0, 1)5µ�r.v.’s, vE(X1) = 3��X�øÍ¿í, S2�

øÍ�²ó�5½Eì�Þ�'

(i) Var(X1) = 100;

(ii) Var(X1)Îá, ¬S2 = 100,

OP (X > 1.274)��«Â�

2. 'X1, · · · , Xn
×àãP(λ)5µX®ß��^øÍ, λ > 0�kOθ = P (X1 =

0) = e−λ�UMVUE�

(i) �0�×�n�5Ù��T ;

(ii) ¿àI{X1=0}
θ�×��£��, |O�UMVUE;

(iii) ¿à0×TÝÐóh(T ), ��E(h(T )) = θ, |O�UMVUE�

3. 'X1, · · · , Xn
×àãp.d.f.f(x|θ) = θxθ−1/(1 + x)θ+1, 0 < x < ∞, θ > 0, X®

ß��^øÍ��Oθ−2�×UMVUE�

4. 'X1, · · · , Xn
×àãN (θ, 1)5µX®ß��^øÍ, �q(θ) = θ2
�

(i) �JX
2

n − 1/n
q(θ)�×UMVUE;

(ii) �OVar(X
2

n − 1/n), ¬J�hÂ�yCRLB�

5. 'X1, · · · , Xn
×àãP(θ)5µX®ß��^øÍ, θ > 0��X = (X1, · · · , Xn),

ãq(θ) = E(X1)�

(i) �Oq(θ)��UMVUE T (X)�

(ii) �OCRLB�

(iii) �®Var(T (X))ÎÍ¾ÕCRLB?

6. 'X1, X2
ãBe(θ, 1)5µX®ß��^øÍ, θ ∈ Ω = {1, 2}�kl�H0 : θ = 1,

vs. Ha : θ = 2�`�½ã
{3/(4X1) ≤ X2}��Ohl��læÐó�
7. 'X1, · · · , Xn
×àãU(0, θ)5µX®ß��^øÍ, θ ∈ (0,∞)�kl�H0 :

θ ≤ θ0, vs. Ha : θ > θ0�ã`�½
{X(n) ≥ c}�
(i) �OlæÐóK(θ), ¬J�h
θ�×¦Ðó;

(ii) 'θ0 = 1/2, �Oc�Â, ¸�½iã
0.05;

(iii) �X�n�9�, ¸ÿE(ii)��l�, K(0.75) ≥ 0.98;

(iv) Y(ii), 'n = 20, vX(n) = 0.48, �Oh`�p-Â�


